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Od=Zy dgs 294 & 123,816,000& 123,816
J| 61,908
< 30,954
s 30,954
HAZHANE M =5 X& 10,400 10,400 0
< 3,120
s 7,280
307 gl2tol & 10,400 10,400 0
< 3,120
[ia 7,280
10 AL SXAIEEE2EH EX 10,400 10,400 0
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—HAHEXxE 200,000& = 4H « 123 9,600
< 2,880
s 6,720
— A< (4,F4) 100,000% * 49 * 23] 800
< 240
[ia 560
HAZ2 B Alg N 480 480 0
J| 240
e 240
307 glz2+0ol & 480 480 0
J| 240
e 240
11T MISRASER 480 480 0
OWEZZIHAIE SANLS 480,000& 480
J| 240
s 240
S0H0 & W= 2 &2 N 5,000 5,000 0
< 1,500
i 3,500
307 21201 A 5,000 5,000 0
< 1,500
s 3,500
11T AL S XA E = 5,000 5,000 0
OHHIH & W= Z2EXNA 5,000,000& 5,000
< 1,500
e 3,500
oSO ATRASY 15,000 17,000 A2,000
< 1,500
s 13,500
307 glz2tol & 15,000 17,000 A 2,000
< 1,500
s 13,500
11T M SXASEEX 15,000 17,000 A2,000
O0sHLtEXGHY 29 5,000,000& 5,000
< 1,500
[ia 3,500
OXNGA otd=Z20H 29 10,000, 000& 10,000
220t 243 X& 11,000 11,000 0
< 2,200
fia 8,800
307 gl2tol & 11,000 11,000 0
< 2,200
[ia 8,800
11T M XA EX 11,000 11,000 0
OALINFELF ALY 11,000, 000& 11,000
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10,000
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= 5,166
= 2,583
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< 8,000
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Oxg24gHl 63,200,000& 63,200
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< 8,000
[ia 39,200
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< 8,000
e 8,000
402 RIZ2EXt20l ™ 32,000 32,000 0
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< 8,000
e 8,000
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Oo&old #dldgl XI&  2,000,000& * 1702 2,000
= 1,000
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OUEO0IE HE= A 30,000,000& = 1JHA 30,000
= 15,000
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= 700
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e 350

w

1 —




SN =08 0tS T
g 0d - 258 SAAMHA M3
el mol PEAHA HE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
12243 1,400 1,400 0
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grzZtoiglold X 144,280 106, 180 38,100
< 26,884
[ia 117,396
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s 8,064
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s 8,064
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s 1,411
oo 249 XA 210,520 210,520 0
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O1.3M0 &=Ltz MY
150,000& * 10004 * 23 3,000
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OZRXNAN0IE HHHAZH
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O=2380eold HE= 12,000, 000& 12,000
geot2E=sz X& 3,354,501 3,354,501 0
= 2,180,425
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< 116,850
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OBXwAL & AZESHG A Q12|
459,800,000 459,800
= 229,900
< 114,950
e 114,950
OUHM A 21 Al 7,600,000 7,600
= 3,800
< 1,900
[ia 1,900
SRILHEY 2L (XH) 2,372 4,000 21,628
= 1,186
< 593
s 593
301 LA F 2,372 4,000 21,628
= 1,186
< 593
s 593
12JIE243 2,372 4,000 21,628
OO0t0IALE 222ULHE XA 2,372,000 2,372
= 1,186
< 593
s 593
Helold 2SN (sHELTHEANRI0IE) 10,120 10,120 0
= 5,060
< 2,530
s 2,530
307 gl2tol & 10,120 10,120 0
= 5,060
< 2,530
s 2,530
10 AL SXAIEEE2EH EX 10,120 10,120 0
OsHELAM gl Helold XA (4ha)
10,120,000& 10,120
= 5,060
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s 2,530
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< 30,871
s 123,484
307 gl2tol & 154,355 158,736 A4, 381
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OFAL HEFHY ¥ 3 FH
138,989& * 53 =« 23| 1,390
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— SASX L AIRHE P2
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—StEA 7 25,0003 » 322 A 800
—HEEZE ¢ 35,000& » 10 A 350
—SEHNsSE 7Y 1,500,000 1,500
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—goAs HEZ 100,000& =+ 93l 900
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